Y

The choice of perfection

Spare Parts

Unloader ST-285

[tem-Number 200285550

S

i

k

i

{

Pos. Item number | Description
1 010009211 Housing ST-285
2 010009203 Glide sleeve ST-265
3 010003470 Pressure washer DBV 073
4 010009208 B-Pressure Plate
5 020001296 flange slide bearing
6 040000414 Stud Bolt M8x1
7 040001460 Hex nut M8x1 1SO10512 galv. clam
8 040004430 Feather key
9 060000695 Mould spring 32x16x64 blue
10 020012112 Switch Plate
11 040002312 Blind plug + NBRsealing M10x1
12 040001450 Hex nut DIN 936 M8x1 galv.
A 200285420 Repair-Kit RV ST-285
200285425 Repair-Kit BP ST-285
C 200265430 Repair-Kit switch cpl.

Revision status: 01




